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Question 1 is compulsory and Answer any 6 from the remaining questions.
OBE
MarkS—C6 [rBT
Analyze and interpret the following statistics concerning output of wheat per field
obtained as a result of experiment conducted to test four varieties of wheat viz. A,
B, C and D under a Latin- square design
C B A D
25 23 20 20
A D C B
1 19 19 21 18 [8]| coe | L3
B A D C
19 14 17 20
D C B A
17 20 21 15
Given that F3 5 = 4.76
In a recent study reported on the Flurry Blog, the mean age of tablet users is 34
years. Suppose the standard deviation is 15 years. Take a sample of size 7z = 100.
2 |Using central limit theorem, find the probability that the sample mean age is more (71| cos | L2
than 30 years.
Consider ®(2.66) = 0.4961
3 Suppose that 10, 12, 16, 19 1s a sample taken from a normal population with variance (711 cos | 13
6.25. Find a 95 percent confidence interval for the population mean. ’
A random sample of 10 boys had the following 1.Q.:
70, 120, 110, 101, 88, 83, 95, 98, 107, 100.
4 |Do these data support the assumption of a population mean 1.Q. of 100 (at 5% level (71| cos5 | 13
of significance)?
(to_os = 2262)




A die was thrown 60 times and the following frequency distribution was observed:

Do the drugs act differently?

Are the different groups of people affected differently?

[s the interaction term significant?

Answer the above questions taking a significant level of 5%

F(2,9) = 4.26,F(2,9) = 4.26,F(4,9) = 3.63

Faces 1 2 3 4 5 6
frequency 15 6 4 7 11 17 (7]} cos | L3
Test whether the die is unbiased at 5% significance level.
X505 = 11.07
Three different kinds of food are tested on three groups of rats for 5 weeks. The
objective 1s to check the difference in mean weight (in grams) of the rats per week.
Apply one-way ANOVA using a 0.05 significance level to the following data:
Food1 |8 12 19 8 6 11 71} cos | L3
Food 2 4 5 6 9 7
Food 3 11 8 7 13 7 9
F2,15 == 368
The following data show the number of worms quarantined from the GI areas of
four groups of muskrats in a carbon tetrachloride anthelmintic study. Conduct a
two-way ANOVA test.
| 11 111 IV
33 41 12 38 7]
32 38 35 43 CO6 1 L3
26 40 46 25
14 23 22 13
30 21 11 26
Given F(4,12) = 3.26 & F(3,12) = 3.49
Set up ANOVA table for the following information relating to three drugs testing to
judge the effectiveness in reducing blood pressure for three different groups of
eople
Group of people Drug
X Y Z
A 14 10 11
15 9 11
B 12 7 10
[7]
11 8 11 CO6 L3
C 10 11 8
11 11 7
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